Key slides from Sam’s lesson 
Time codes to find where Sam talks about each part of the lesson are below each slide. 
[image: ] [image: ]
[image: ] [image: ]
Below is the worksheet Sam discusses. Click on the image to download.
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Key slides from Faye's lesson
Time codes to find where Faye talks about each part of the lesson are below each slide. 
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Tasks Faye gave to children in her lesson:
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What is the number sentence?
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There are 129 eqgs that need to be
packaged. A box holds 6 eggs. How many
eqgs can be packaged? How many will be

left?

Lt

Can you
represent this
using counters?

Remember to
use the
Gcs!
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Let's Learn- Standard:

849 + 4= 7

.
88 ¢

We Say: When using short division you see how many times the divsor will go into the dividend, starting with the.
handreds, the the fens, then the ones. If fhere is an amount after diiding the ones, tisis known as the remainder.
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Harry says “Without doing a written method I know
1350 + 1 will not have a remainder.”
Is he correct?

Convince me.
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Tuist it!
There are 972 pples that need fo be packaged. A pack holds 8 qpples.
How many packages are needed so fhat all of the apples can be packaged?

1 challenge you
‘Toby! You vould
need 122 packages.

Who do you support? A.C.E your answer.
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Deepen It 1:

Lucy is solving a ivision problem. Use the 4 C's

to answer this
She gets the answer 68 remainder 2.

What was the original. division problem?

ﬂ Dive Deeper- the answer is only the beginning.
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If the divisor is kept the same,
the greater the dividend, the
greater the quotient.
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5 kg of flour can make 4 cakes.
How much flour is needed to make one
cake?
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You need I% kg of flour for one cake.
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